Geometry Un8-5  axer, pa. 5uo *1,5-9, 13~ 16, 1§ - 23, 25-27

T “:mupéﬁmé* i)@f{@ @M@l(QS ﬁk«ahh PRAS and lobel

s b&)u and k;%é.“ R 4 Gase = q

_ ' ’ [’&‘,

Af,; B) C;j‘ D are “‘W‘ N@f?’\@ﬁis Q{“\ a. G L*s‘-?tfif“;.“{f:l{”‘%f?@ﬁ«, Bﬁ%?rrn’imﬂ
Jodnether  ABCD 5 o trapezord.

ki

=

5, Al 8(g)), c(3,-3, D(-,4)

Tacy @(w o mfBram g P2 D 3oy T |

; .é c&fs =B

33(.,4,4)\/ ~ Besed on the slopes, ro two line Ss-egmwﬂL:‘:

4 \@Qf’a“«a&. ABCD _5;3 mj a ‘;{"‘WI»FYTTZ“O‘IQ‘._“

c. A3 3) a( «\) c(i,-u) D(-3,0)

1 -1, ‘) mAB=3T¢n "2 | Y
vy

Ei i o
A ?

P . “.;.‘(“ N
D3\ - o eBCe ST

Q(\,"*Lﬁ\) m@r‘e N One. E}Q_‘kf» @Q “Pcir‘aﬂgg( g{\ﬁe‘:”i qumua»e
' A and (‘Z\}C} W.WQ ,“H’\{zsﬂam@ S(D@‘Qy ‘
AB ond CD ace the beges: BC and DA are

’ the \pgiﬁy A@; D) Eé o. "i‘wa\f)rﬁa«mfé




-
‘measures ot LT

LL ., and Z»M e

L
7

(=

) y

/T Lk =150

L3450 =80 e
WL,W waﬁw(zﬁﬂ_géi,

sty [dlewo ]

PR

” .L‘:(*K'i/{,:(‘r
£T+(w3fj%®;wﬂwww

4L 4Lk =180 |

/L 4+ Ug =806




6.

Fw'u% t}/\ﬁ ‘hm{)e’%ﬁx&/& xf%’lﬂé‘ﬁ&??’ngbm{ ﬁam;\‘Hﬁ

CMN= T T mE MNE e T

2y

2
o
5
3

8410

[WM( -3 |

e

~

WWQL\ ﬁ{ Oi?mizmi s ,,v*m"i‘ .G,w{ L Alal ,'%" e .
3

1AL Baw amgwa of isos. ‘\{‘wmko ore -’-é’» ai‘(‘ﬁj S
,._.._u—ﬂn T

> M ‘;’”SQQW‘tVﬂ of trap is U to boses s / N

C. SCA&QR&‘ QQQ %‘P&p- ove ’Z‘mf*r&“s?( j'g&; Z__;____‘/
i L R

’D\ L?cx\s GQ @ *mﬁ, Qe (OY\QVUGM‘{ \)

~ Only { the fj‘i'mge-%‘l €§ W wosceles

G@M& ‘‘‘‘ mgﬁm bmd?ﬁ 'ﬁ‘\Q PM"S cﬁ’ j

£feH s o kite., Fnd msG. _Q@aﬁj{?@ﬂf@f% are  Congeuent .
*"\“__NW'%WM}\W

004 40 4 X ¥ X 2360 6o+ D+ LG AUDS36D xax A 50x90 =360
2k T30 -the LG+ 230:366 . Dk +QHO= 366
’ D = ALO

i T35 35,




/ﬁer: m

KL(HZQ:S Q&iqaaf\a{.‘i are ..L

Fnd the side len &ans for e 8{vew ete

i3t
t1:13
YRR NS

I(,\)x < :N?,I.;,, [ x¢ =al2|

<”

,0 °'
=
o0
11

B¢ = Q425 =34

Wt 4T “xu""- et
W= 16436252 =364 gk =180
wx =5z = ki ={4fa x4 =150 = {4-9.5
I 275/ Xy =4 (g {5
"wz=g¢‘" | xe=el5|

[{8] % v
N\ 7/
I ')_,\:%

O wx =gt
g wx'= 36l 400 kel

W © / wx = NH&1
a M

z w2z = e
o '

s
-
13
a1
=




1Aicegre:  Find the value of x

L\L}}%ﬁg) -

g _% ¥ \’1‘\_‘(.‘}:‘{ . S
(5%) E ) . .

Ix - L1 = 34
7% = 3%.1
(%= 23 |




